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lfOlffmm Of PrlSmS Recall that the volume of a solid is the measure of the amount
of space the solid endoses. Volume is measured in cubic units.

'fhe rectangular prism at the right has 6 . 4 or
24 cubjc units in the bottom layer. Since there
are t$ro the total is24 .2 or

Words The volume t/of a prism is V = Bh,

where I is the area of a base and h
is the height of the prism.

8=*i0andh=1i

unit52

4 units

Symbols V = Bh b d irfo^ ce-bcl,,r.dL

Find the volume of the prism.

effiH Find the area of the base B.

s =ltn

= +(12X10) or 60

ffi# Find the volume of the prism.

. V=Bh

= 60(11) or 660

The volume of the prism is 660
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,tli Volume of a Prism


